# FOREST FALL FAIR SEPTEMBER 2025

### JUNIOR DEPARTMENT

www.forestfair.ca

Committee: Patti Steven (519) 899-3525, Patti VandenBoer (519) 296-5138, Ruth Ellerker, Karen Bori, Carol McKinlay, Caroline Sparling, Nikki Steven, Catherine Minielly, Colleen Main, Sue Lewis, Tammy St Louise, Kim Gilliard, Jolene Wellington, Heidi & Megan McIntyre

**NO ENTRY FEE,** but exhibitors must have a number.

- 1. Only ONE exhibit per section is allowed.
- 2. All entries must be new work of the exhibitor.
- 3. Prizes to be awarded at the judges' decision.
- 4. No kits or food mixes unless otherwise stated.
- 5. No exhibits will be accepted before Wednesday

# Class 64

# 18 AND UNDER

- 1. Open to males and females 18 years of age and under. Students from N.L.S.S. will be responsible for all N.L.S.S. entries.
- 2. **EACH STUDENT MUST BE REGISTERED** (have an Exhibit number )
- 3. Each exhibitor must register a list of entries intended for exhibition to the secretary no later than 12 noon on Friday
- 4. Exhibits will be accepted on Thursday between 3pm -8pm and Fri am from 8:30am noon
- 5. All entries **MUST BE PICKED UP** at 4:30 p.m. <u>Sunday</u>
- 6. Any items left behind will be discarded.

#### **NOTE:**

Winners from Class 64 who enter through N.L.S.S. will receive their prize money in cash, when the art work is returned. All other winners may pick up their **prize money** at the office during Fair weekend or on Sunday when you pick-up all of your entries.

#### **SPECIALS**

Each 1<sup>st</sup> Prize will receive a bonus amount of money (excluding sections with gift certificates or gifts) from our sponsors. See list www.forestfair.ca

# All specials will be included with the prize money.

Top point winners in Class 64 will receive, 1<sup>st</sup> \$25, 2nd \$20, 3<sup>rd</sup> \$15. (given by our sponsors - see list at end of Jr. Department)

# \*\*All baking to be enclosed in plastic bags and on suitable base.\*\*

Section #		
1. Brownies (un-iced) - 3	6.00 3.00 2.00	
2. Banana muffins- 3	6.00 3.00 2.00	
3. Shortbread Cooker or Square - 3	6.00 3.00 2.00	
4. Unbaked Cookies, (1 variety) - 3	6.00 3.00 2.00	
5. Decorated Cupcakes (3 on a plate)- mix allowed		
-Decoration only to be judged	7.00 4.00 3.00	
6. Homemade "cooked" Strawberry Jam – 1 jar	7.00 4.00 3.00	
(in a small jar)		
7. Homemade Mild Salsa (in a small jar) - 1 jar	7.00 4.00 3.00	
8. Homemade Applesauce (in a small jar, no spice)	7.00 4.00 3.00	
- 1 jar		
9. Homemade Stuffed Pillow	6.00 3.00 2.00	
10. Knitted Head Gear	6.00 3.00 2.00	
11. Fleece Tied Article	7.00 4.00 3.00	
12. Article of Sewing	7.00 4.00 3.00	
13. Origami creation	7.00 4.00 3.00	
14. Homemade Piece of Jewelry (mounted)	6.00 3.00 2.00	
15. Decorated jar for Halloween	6.00 3.00 2.00	
16. Decorated Birdhouse	7.00 4.00 3.00	
17. Any <b>Unique Craft</b> not listed	7.00 4.00 3.00	
18. Mask Making, any media	6.00 3.00 2.00	
19. Stone picture – Mounted & framed	6.00 3.00 2.00	
Max size ( 8.5in x11 in )		
20. Garden Scarecrow	14.00 1.00 8.00	
21. Table Arrangement for Thanksgiving Dinner	6.00 3.00 2.00	
22. Fresh Flower Arrangement in a coffee mug	6.00 3.00 2.00	
23. Pressed Flower(s) mounted/secured on card stoo	ck	
	6.00 3.00 2.00	
24. Decorated squash or gourd, uncarved	7.00 4.00 3.00	
25. Anime Inspired picture - Portrait	6.00 3.00 2.00	
26. Anime Inspired picture – Scene	6.00 3.00 2.00	
27. Photograph of nature (1)- mounted	6.00 3.00 2.00	
28. Photograph My Pet (1 picture) –mounted	6.00 3.00 200	
29. Photograph Favorite Vacation (1 photo)	6.00 3.00 2.00	
30. Photograph, Favorite Fair Event	6.00 3.00 2.00	
31. Photograph – 4 "action" pictures (mounted, ie s	• '	
	6.00 3.00 2.00	

32. Photograph: same picture (1 in color, 1 in black & white)				
Mounted	6.00 3.00 2.00			
33. Photograph: Sunrise/Sunset (1) – mounted	6.00 3.00 2.00			
34. Photograph: Landmark Photo – well known site				
of Lambton County Landmark (1) – mounted	6.00 3.00 2.00			
35. Landscape any medium non-photographic	6.00 3.00 2.00			
36. Still Life - any medium, non-photographic	6.00 3.00 2.00			
37. Draw: Imaginary bug in an imaginary garden	6.00 3.00 2.00			
38. Portrait Animal drawing	6.00 3.00 2.00			
39. Portrait of Person - drawing	6.00 3.00 2.00			
40. Open Class Drawing	6.00 3.00 2.00			
41. Open Class Painting	6.00 3.00 2.00			
42. "Beach glass" picture – mounted & framed				
(max size 8.5in x 11in)	6.00 3.00 2.00			
43. Sculpture -3 dimensional item	7.00 4.00 3.00			
44. Carving 2 dimensional item	7.00 4.00 3.00			
45. Woodworking and/or lathe article	7.00 4.00 3.00			
46. Machining article –(Shop project, acrylic, etc	7.00 4.00 3.00			
47. Welding Article	7.00 4.00 3.00			

## 48. SENIOR POSTER COMPETITION

.....from OAAS --!!!!!!

\*\*Entries include Grade 9 to Grade 12 inclusive\*\*

#### Entry Rules:

- 1. Theme of the Fair: COUNTRY NIGHTS & CARNIVAL LIGHTS Name of Fair and date of Fair must be clearly shown on poster.
- 2. Must be hand drawn.
- 3. Poster Size: Min 8 ½ x 11in. (23cm x 28cm), without border to a max of 11 x 17in. (28cm x 44cm), without border.
- 4. Each entry must be centered on a **CARDSTOCK** or **BRISTOL BOARD** exposing a 2 inch border on all four sides.
- 5. Name of Fair, District #13, contact person and owner of the poster is to be clearly labeled on the **BACK** of each entry in BOLD print.
- 6. The winning poster from each class at each fair will be eligible to enter the District #13 Competition. With District #13 winners advancing to the O.A.A.S. Convention in February, 2026 for the grand prize.

Prizes donated by our sponsors \$15.00 \$10.00 \$5.00

# FOREST FALL FAIR SEPTEMBER 2025

## JUNIOR DEPARTMENT

www.forestfair.ca

# CLASS 65

# 12 AND UNDER

- 1. Open to boys and girls 12 and under.
- 2. Each student must have an exhibitor's number.
- 3. Only **ONE** exhibit per section is allowed.
- 4. All entries must be new work of the exhibitor.
- 5. Prizes to be awarded at the judge's decision.
- 6. No kits or food mixes unless otherwise stated.
- 7. Each exhibitor must register a list of entries intended for exhibition to the Secretary No later than Friday at noon
- 8. Exhibits will be accepted on Thursday from 3:00 8:00 p.m. and Friday am 8:30am- noon
- 9. All exhibits **must be picked up** at **4:30 p.m. Sunday**
- 10 Any items left behind will be discarded.

#### Note:

Winners in **CLASS 65** may pick up their prize money at the office over the weekend or on Sunday at time of pick-up of your entries

#### **SPECIALS**

Each 1<sup>st</sup> Prize will receive a bonus amount of money from our sponsors (excluding sections with gift certificates or gifts). See list at www.forestfair.ca

# All specials will be included with the prize money.

Top point winners in Class 65 will receive, 1<sup>st</sup> \$25, 2<sup>nd</sup> \$20, 3<sup>rd</sup> \$15 (given by our sponsors of Jr. Department after July 1, 2020)

\*\*All baking to be enclosed in plastic bags and on suitable base \*\*

# Section # 65

# \*\*ALL baked goods only need 3 on a plate for judging \*\*

1. Chocolate Chip Cookies, 3 (boys)	6.00 3.00 2.00 1.00			
2. Chocolate Chip Cookies, 3 (girls)	6.00 3.00 2.00 1.00			
3. Oatmeal Cookies, 3 (Boys & girls)	6.00 3.00 2.00 1.00			
4. Unbaked Cookies, 3 - 1 variety (Boys & Girls)	6.00 3.00 2.00 1.00			
5. Peanut Butter Cookies, 3 (boys)	6.00 3.00 2.00 1.00			
6. Peanut butter Cookies, 3 (girls)	6.00 3.00 2.00 1.00			
7. Brownies (un-iced) 3, (boys)	6.00 3.00 2.00 1.00			
8. Brownies (un-iced) 3, (girls)	6.00 3.00 2.00 1.00			
9. Homemade Peanut Brittle (3 pieces)	6.00 3.00 2.00 1.00			
10. Decorated Cookie (Decorating only judged – m				
(5 years and under)	7.00 4.00 2.00 1.00			
11. Decorated Cookie (decorating only judged, <u>mus</u>				
(6 - 8 years)	7.00 4.00 2.00 1.00			
12. Homemade "cooked" Strawberry Jam – 1 jar	6.00 4.00 2.00 1.00			
(in a small jar)				
13. Homemade Salsa "mild" (in a small jar)- 1 jar	7.00 4.00 2.00 1.00			
14. Homemade applesauce "No spice" – 1 jar	7.00 4.00 2.00 1.00			
( in a small jar )	7.00 1.00 2.00 1.00			
15. Handmade Hair Accessory	6.00 3.00 2.00 1.00			
16. Article of Sewing	6.00 3.00 2.00 1.00			
17. Homemade Mobile	6.00 3.00 2.00 1.00			
18. Paperweight, any material (7 -9 years)	6.00 3.00 2.00 1.00			
19. Scrapbooking Page- Any theme (10-12 years)	6.00 3.00 2.00 1.00			
20. Clothespin Article	6.00 3.00 2.00 1.00			
21. Homemade Musical Instrument (6 years and und				
21. Homemade Wasiear Histrament (o years and an	6.00 3.00 2.00 1.00			
22. Homemade Musical Instrument (7 – 9 years)	6.00 3.00 2.00 1.00			
23. Homemade Musical Instrument (10 – 12 years)	6.00 3.00 2.00 1.00			
24. Decorated Pop Can (6 years and under)	6.00 3.00 2.00 1.00			
25. Decorated Pop Can (7 - 9 years)	6.00 3.00 2.00 1.00			
26. Decorated Pop Can (10 – 12 years)	6.00 3.00 2.00 1.00			
27. Homemade Hand Puppet (any media)(6 years an				
27. Homemade Hand Eupper (any media)(o years an	6.00 3.00 2.00 1.00			
28. Homemade Hand Puppet (any media)(7-9 years				
29. Diorama Scene in a Shoe Box (any media)(10-1	6.00 3.00 2.00 1.00			
20 Hamamada Diaga of Javvaluv (mayatad) (6 vagus				
30. Homemade Piece of Jewelry (mounted)(6 years	,			
21 Homewoods Disease of Leveley (mounted)/7 Over	6.00 3.00 2.00 1.00			
31. Homemade Piece of Jewelry (mounted) $(7 - 9 \text{ ye})$				
22 H	6.00 3.00 2.00 1.00			
32. Homemade Piece of Jewelry (mounted)(10 - 12	•			
22 D 1 1 /	6.00 3.00 2.00 1.00			
33. Bookmark (any material) (8 years and under)	6.00 3.00 2.00 1.00			
34. Any Unique Craft not listed excluding pictures/drawings				

```
(6 years and under)- height not to exceed 60 cm.
                                                    6.00 3.00 2.00 1.00
35. Any Unique Craft not listed excluding pictures/drawings
       (7-9 \text{ years})- height not to exceed 60 cm.
                                                    6.00 3.00 2.00 1.00
36. Any Unique Craft not listed excluding pictures/drawings
        (10 - 12 years) - height not to exceed 60 cm 6.00 3.00 2.00 1.00
37. Pasta Art (6 years and under)
                                                    6.00 3.00 2.00 1.00
38. Cereal Art (7 - 9 \text{ years})
                                                    6.00 3.00 2.00 1.00
39. Seed Art (10 - 12 years)
                                                    6.00 3.00 2.00 1.00
40. Animal Made from Pinecones
                                                    6.00 3.00 2.00 1.00
41. Decorated Bar of Soap (6 years and under)
                                                    6.00 3.00 2.00 1.00
42. Decorated Bar of Soap (7 - 9 \text{ years})
                                                    6.00 3.00 2.00 1.00
43. Carving Made from Bar of Soap (10 -12 years)
                                                   6.00 3.00 2.00 1.00
44. Draw and Colour Your Favorite Birthday Cake 6.00 3.00 2.00 1.00
       ( 6yrs and under)
45. Draw and Colour Your Favorite Slice of Pizza 6.00 3.00 2.00 1.00
        - neatly label the toppings & mount (7-9 years)
46. Cut and Mount 6 Pictures of Animals (6 years and under)
                                                    6.00 3.00 2.00 1.00
47. Painted ceramic tile (6yr and under) 10x10cm
                                                    6.00 3.00 2.00 1.00
48. Create (using modeling clay etc) – food you most enjoy at the fair
                                                    6.00 3.00 2.00 1.00
49. A Collection of 4 Different Leaves (mounted and labelled)
    (6 years and under)
                                                    6.00 3.00 2.00 1.00
50. A Collection of 4 Different Leaves (mounted and labelled)
    (7-9 \text{ years})
                                                    6.00 3.00 2.00 1.00
51. Leaf Collage (10 - 12 \text{ years})
                                                    6.00 3.00 2.00 1.00
      (dimension no larger than 23 x 28cm)
52. A "Lego" or "K'Nex" Style Creation (securely mounted to base not
more than 40 cm square)(6 yrs and under)(no kits) 6.00 3.00 2.00 1.00
53. A "Lego" or "K'Nex" Animal Creation (securely mounted to base not
more than 40 cm square)(7 - 9 yrs)(no kits)
                                                    6.00 3.00 2.00 1.00
54. A "Lego" or "K'Nex" Vehicle eg car, truck (securely mounted to base not
more than 40 cm square)(10 - 12 yrs)(no kits)
                                                    6.00 3.00 2.00 1.00
55. Marshmallow Creature (firm base no larger than 20x26 cm)
       (6 years and under)
                                                    6.00 3.00 2.00 1.00
56. Marshmallow Creature (firm base no larger than 20x26 cm)
        (7 - 9 years)
                                                    6.00 3.00 2.00 1.00
57. Homemade Turkey (any media) (6yrs & under) 6.00 3.00 2.00 1.00
58. Homemade 3D turkey (any media)- all ages
                                                    6.00 3.00 2.00 1.00
59. Torn Paper Picture (7 - 9 \text{ years})
                                                    6.00 3.00 2.00 1.00
60. Torn Paper Picture (10 - 12 years)
                                                    6.00 3.00 2.00 1.00
61. Imaginary Space Creature
                                                    6.00 3.00 2.00 1.00
62. Animal created from boxes, no more than 40 cm square - girls
                                                    6.00 3.00 2.00 1.00
63. Animal created from boxes, no more than 40 cm square - boys
                                                    6.00 3.00 2.00 1.00
```

```
64. Colour a Favorite Picture from any Colouring book (6 years and under)
     - mount on firm paper
                                                   6.00 3.00 2.00 1.00
65. Freehand Drawing of "My Pet" with title (4 years and under)
                                                   6.00 3.00 2.00 1.00
66. Freehand Drawing of "My Pet" (any media) (5 and 6 years)
                                                   6.00 3.00 2.00 1.00
67. Draw "What you want to be when you grow up "– (any media) (6 years and under)
                                                   6.00 3.00 2.00 1.00
68. Freehand Drawing – "My Family"- (any media) (7 - 9 years)
                                                   6.00 3.00 2.00 1.00
69. Freehand Drawing –any subject –any media (7 – 9 years)
                                                   6.00 3.00 2.00 1.00
70. Freehand Drawing – "My Favourite Fair Event"
      (any media) (10-12 years)
                                                   6.00 3.00 2.00 1.00
71. Freehand Drawing – any subject – any media
               (10 - 12 years)
                                                   6.00 3.00 2.00 1.00
72. "Finger Print" art - any topic (10 - 12 years)
                                                   6.00 3.00 2.00 1.00
73. Make a "Super Hero" mask (any media)
                                                   4.00 3.00 2.00 1.00
74. Water Based Painting (10-12 years)
                                                   6.00 3.00 2.00 1.00
75. Bird Feeder made from recycled material (6 years and under)
       -height not to exceed 60 cm.
                                                   6.00 3.00 2.00 1.00
76. Bird Feeder made from recycled material (7 - 9 \text{ years})
       - height not to exceed 60 cm.
                                                   6.00 3.00 2.00 1.00
77. 3D "Cork" creature (10-12 \text{ years})
       - height not to exceed 60 cm.
                                                   6.00 3.00 2.00 1.00
78. A Creation from Small Scrap Lumber, using your imagination
                                                   6.00 3.00 2.00 1.00
79. Mud Pie-(6 years and under) dried and decorated with natural materials
       (seeds, pinecone etc) displayed in a small tin foil plate
                                                   6.00 3.00 2.00 1.00
80. Collection of your 6 Favourite Stones (6 years and under)
 – displayed in an "Egg Carton"
                                                   6.00 3.00 2.00 1.00
81. Decorated Garden Potato – (Not plastic) (6 years and under)
                                                   6.00 3.00 2.00 1.00
                     - uncarved
82. Decorated Garden Potato (Not plastic) (7 - 9 years)
            uncarved
                                                   6.00 3.00 2.00 1.00
83. Corn Cob Critter
                                                   6.00 3.00 2.00 1.00
                                                   6.00 3.00 2.00 1.00
84. Best Dressed Sneaker
85. A Bouquet for "Mother" using weeds and wildflowers
                                                   6.00 3.00 2.00 1.00
86. Best decorated pumpkin, UNCARVED (5-8 years)
                                                   6.00 3.00 2.00 1.00
87. Best Decorated pumpkin, UNCARVED (9 -12 years)
                                                   6.00 3.00 2.00 1.00
```

88. Largest Sunflower Head 89. Smallest Sunflower Head (with <u>recognizable</u> head-mounted on sturdy base	6.00 3.00 2.00 1.00 6.00 3.00 2.00 1.00		
90. Homemade Decorative Cement Garden Stone (No kits)	6.00 3.00 2.00 1.00		
91. Canadian Flag – any media (7 – 9 years)	6.00 3.00 2.00 1.00		
92. Canadian Flag – any media (10 – 12 years)	6.00 3.00 2.00 1.00		
93. Photograph – theme- "My Pet(s)"- mounted & framed			
-one photo taken by exhibitor	6.00 3.00 2.00 1.00		
94. Photograph – theme- "My Favourite Vacation" –mounted & framed			
-one photo taken by exhibitor	6.00 3.00 2.00 1.00		
95. Photograph – picture of "nature" – mounted & framed			
-one photo taken by exhibitor	6.00 3.00 2.00 1.00		

# Printing and writing sections must be done as School grade in September 2025

96. Printing (Jr. Kindergarten) – <u>Print</u>
First name twice, i.e. Sue, Sue
(use unlined 8x10 standard paper) 6.00 3.00 2.00 1.00

97. Printing (Sr. Kindergarten) – PrintMy name is \_\_\_\_\_\_(put in own first name), twice.

(use unlined 8x10 standard paper)
eg My name is Sue, My name is Sue 6.00 3.00 2.00 1.00

98. Printing (Grade 1) – **Print**-

Forest Fall Fair, celebrating fun and friends.

(use lined 8x10 standard paper) 6.00 3.00 2.00 1.00

99. Printing (Grade 2) – **Print** 

First came Spring, then summer sun.

Now the Autumn has begun.

(use lined 8x10 standard paper) 6.00 3.00 2.00 1.00

### 100. Printing (Grade 3) - **Print:**

Farmers bring in the harvest from the land. Animals are prepared for the fall fair plan Time to celebrate our accomplishments With laughter, cheers and friends!

### (use lined 8x10 standard paper)

6.00 3.00 2.00 1.00

## 101. Printing (Grade 4) – **Print**

Grateful to have a friend like you, Someone kind, and thoughtful.. To enjoy the fair moments with, And share my cotton candy too.

(use lined 8x10 standard paper)

6.00 3.00 2.00 1.00

### 102. Printing (Grade 5) - **Print:**

The leaves are yellow, red, and brown, A shower sprinkles softly down; The air is fragrant, crisp, and cool, And once again I'm stuck in school. (use lined 8x10 standard paper)

6.00 3.00 2.00 1.00

### 103. Writing (Grade 6) - Write:

Hand write your favourite "Celebrity" or "Super Hero" Signature in cursive writing

(use lined 8x10 standard paper)

6.00 3.00 2.00 1.00

The Top Prize winners from each group of Junior Department will be riding in the **Parade** on Saturday starting at 12:00. The individuals will be contacted by phone Friday Eve.

# 104. INTERMEDIATE POSTER COMPETITION ..... OAAS

**Entries include Grade 5 to Grade 8 inclusive** 

### **Entry Rules:**

- 1. Theme of the Fair: **Country Nights & Carnival Lights** Name of Fair and date of Fair must be clearly shown on poster.
- 2. Must be hand drawn.
- 3. Poster Size: Min 8 ½ x 11in. (23cm x 28cm), without border to a max of 11 x 17in. (28cm x 44cm), without border.
- 1. Each entry must be centered on a **CARDSTOCK** or **BRISTOL BOARD** exposing a 2 inch border on all four sides.

- 2. Name of Fair, District #13, contact person and owner of the poster is to be clearly labeled on the **BACK** of each entry in BOLD print.
- 3. The winning poster from each class at each fair will be eligible to enter the District #13 Competition. With District #13 winners advancing to the O.A.A.S. Convention in February, 2026 for the grand prize.

**Prizes donated by our sponsors** \$10.00 \$5.00 \$3.00 \$2.00

# 105. JUNIOR POSTER COMPETION..... OAAS Entries include ages up to Grade 4 inclusive

#### **Entry Rules:**

- 1. Theme of the Fair: **Country Nights & Carnival Lights**. Name of Fair and date of Fair must be clearly shown on poster.
- 2. Must be hand drawn.
- 3. Poster Size: Min 8 ½ x 11in. (23cm x 28cm), without border to a max of 11 x 17in. (28cm x 44cm), without border.
- 4. Each entry must be centered on a **CARDSTOCK** or **BRISTOL BOARD** exposing a 2 inch border on all four sides.
- 5. Name of Fair, District #13, contact person and owner of the poster is to be clearly labeled on the **BACK** of each entry in BOLD print.
- 6. The winning poster from each class at each fair will be eligible to enter the District #13 Competition. With District #13 winners advancing to the O.A.A.S. Convention in February, 2026 for the grand prize

Prizes donated by our sponsors \$10.0 0 \$5.00 \$3.00 \$2.00

### **Poster Judging Standards**

- 1. Overall Appearance 20 points
- 2. Attract and hold attention 30 points
- 3. Competition theme clear -40 points
- 4. Quality materials/end product 10 points

The Jr. Department would like to Thank our many Sponsors & Businesses who have contributed this year.

Congratulations to All participants from the Ir Department Committee